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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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Write a short note on : Hydrogen bond.
Explain types of catalysts.
What is phase rule? Write its mathematical expression.

Describe dispersion methods for the preparation of colloidal sol.
Draw the phase diagram of water system and discuss it in detail.
OR
Draw the phase diagram of any two component system and discuss it in detail.

Write six characteristics of solid state of matter.

Explain types of catalysis.

State four points of differences between physisorption and chemisorption.
OR

Write about kinetic theory of matter.

Mention industrial applications of catalysts.

State four points of differences between absorption and adsorption.

Explain electrophoresis with diagram.
Write electron configuration of elements : 4Be, 1H, 18Ar, 19K, gO.
Explain Freundlich adsorption isotherm.
OR
Explain purification of colloid by dialysis with diagram.
Write a short note on : lonic bond.
Explain Langmuir adsorption isotherm.

Define : Standard solution and stock solution. How standard solution is
prepared from stock solution?
List out various apparatus required for chemical analysis in the laboratory.
What is concentration of solution? State the names of different concentration
terms.

OR
Define : Normality and Molarity. Find the molecular weight and equivalent
weight of HCI.
In a 5 litre solution of H,SO4 the weight of H,SO4 is 98 gm. Find normality of
solution.
Write the formulae to find %w/w, molarity.
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